Word Problems
Addition

. Mr Villers collects stamps. He has 1,269 stamps in his old album and he has 1,489 stamps in his

new album. How many stomps does he have in his whole collection?

2. Five years ago, Sadie had 1,536 cherry trees in her paddock. Since then, 1,239 new cherry trees

have started growing. How many cherry trees are now in her paddock?

3. Afreight train travelled 2,532 kilometres from Jordan Valley to Westville. It then returned, taking

the same route. What was the total distance of the trip?

4 Avideo creator films himself playing video games. So far, he has filmed 1,342 minutes of

footage. If he films 890 minutes more, how many minutes of footage will he have in total?

b o
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5. Alocal jungle gym has a ball pit which contains 6,425 plastic balls. The owner of the jungle gym

adds another 1,877. How many olastic balls are now in the ball pit?
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Word Problems Answers
Addition

1. Mr Villers collects stamps. He has 1,269 stamps in his old album and he has 1,489 stamps in his

new album. How many stamps does he have in his whole collection?

2,758 stamps

2. Five years ago, Sadie had 1,536 cherry trees in her paddock. Since then, 1,239 new cherry frees

have started growing. How many cherry trees are now in her paddock?

2,775 cherry trees

3. Afreight train travelled 2,532 kilometres from Jordan Valley to Westville. It then returned, taking

the same route. What was the total distance of the trip?

5,064 kilometres

4 Avideo creator films himself playing video games. So far, he has filmed 1,342 minutes of

footage. If he films 890 minutes more, how many minutes of footage will he have in total?

2,232 minutes of footage
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5. Alocal jungle gym has a ball pit which contains 6,425 plastic balls. The owner of the jungle gym

adds another 1,877. How many olastic balls are now in the ball pit?

8,302 plastic balls
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